LCM method

Concept Lecture - 2




A and B working separately can do a piece of
5 6 work in 9 and 12 days. If they work for a day
each aIternater, beginning with A, in how

A L’ many days the work will be completed?
Iod 3R B Irerar-3rear A 9 AR 12 Rl
%am{#wmﬁwm%lqﬁaw
Lep o F AT THAR F FH FWA E AT A
FH P YT FT g, af hasr far &

5
E;)@ |0d0A35_q o &7 e

A B a) 36/7 b) 21/4
4 343 4 gA1/4 d) 31/3
Ta Ty A BA BA p
Sy RA B R)

5S4 24 3y
o)

[ 2




60
ALY a
2 5ww6
C 2 6x%</8d
1d
AE?ICABC A=
43343
Quozd

‘A, ‘B’ and ‘C’ working alone can do a work

in 15,20 and 30 days respectively. If they

work individually one after other starting

e ¢with ‘A’ on the first day, ‘B’ on the second

day, ‘C’ on the third day, again ‘A’ on the

2-  fourth day and so on, in how many days the
work will be completed?
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A, B and C can do a piece of work in

6 0 30,20 and 10 days respectively. A is

15 assisted by B on one day and by C on next

g day, alternately. How long would the work
take to finish?
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A, B and C can do a piece of work in
20,30 and 60 days respectively. In how
many days can A do the work if he is
assisted by B and C on every third day?
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a) 10 days b) 12 days

c) 15 days %20 days




A monkey climbs 3 meter in first minute andm
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in next minute. Pole is 50 meter in height. In how many
. . . *
minutes he will climb to top?
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An inlet tap ‘X’ can fill an empty tank in_ 10
hours and an outlet tap ‘Y’ can empty a full
tank in 20 hours. If the taps are opened on
alternate hours, i.e. tap ‘X’ is opened for the
first hour, tap ‘Y’ for the second hour, again
tap ‘X’ for the third hour and so on, in how
many hours the tank will be filled?
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hours, another inlet tap ‘Y’ can fill the same tank

u='7d7z 60 in 15 hours and an outlet tap ‘Z’ can empty a
IO full tank in 20 hours.’lf the taps are opened on

50 alternate hours, i.e. tap ‘X’ is opened for the first
hour, tap ‘Y’ for the second hour, tap ‘Z’ for the

L u\-|’7""’l-,l1u’third hour, again tap ‘X’ for the fourth hour and
Uhy Y he so on, in how many hours the tank will be filled?
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MJ An inlet tap ‘X’ can fill an empty tank in 10




Two inlet taps ‘X’, ‘Y’ can fill an empty tank
60 in 10 hours and 12 hours individually. An
., outlet tap ‘Z’ can empty a full tank in 20
0]?(,&-\-”‘& “hours. If the taps are opened in pairs
q h lh{l hAXY,YZ,ZX) starting with XY in the first
hour, YZ in the second hour and ZX in the
third hour and so on, in how many hours
XY the tank will be filled?
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To do a certain work, A and B work on alternate
days with B beginning the work on the first day. A

& A alone can complete the same work in 24 days. If
éd 5J 0( the work gets completed in 11% day, n B alone

3 can complete 2—77 th part of the origin®
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A, B and C can complete a work in
10,12 and 15 days respectively. They

started the work togetherfBut A left the

work before 5 days of its completion. B also

left the work 2 days after A Ieftjln how

many days was the work completec-i_?\
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Pipes A and B can fill a tank in 16 hours and 24
hours, respectively, and pipe C alone can empty the
full tank in &_h_ours.[AII the pipes were opened
together at 10: 30 a.m., but C was closed at 2: 30
p.m. If the tank was full at 8: 30 p.m. on the same
day, then what is the value of x?
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X (1,x|g Two pipes X and Y can fill a cistern in 24

q6 and 32 minutes respectively. If both the
Y 5 _-7 2 pipes are opened together, then after how

much time (in minutes) should Y be closed

Qq = QnivSO that the tank is full in 18 minutes?
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A and B can to
hours. After 6 hd J A leaves. B takes 36
hours to finish rest of the task. How many

hours would A have taken to do the task if he

worked alone?
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Three pipes A, B and C can fill a tank in 6
hours. After working for 2 hours together, C
is closed and A and B fill the tank in 8 hours.
The time (in hours) in which the tank can be
filled by pipe C alone is
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Pradeep can do a work in 30 days. Pradeep
started the work and Sandeep joined him
after 8 days. The work is completed after
10 more days. In how many days Sandeep
alone can complete that work?
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A man and a boy can complete a work in 24
Qq W days. If for the last six days the man alone

m b does the work then it is completed in 26
t o?"f days. How long the boy will take to
/ \I __2(% =72d complete the work alone?
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A can complete a certain work in 30 days.

—lﬁgw( }/ He started the work. After 4 days, B joined

B

him and the whole work was completed in
10 days from the beginning. B alone can
complete one-third of the same work in:
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a) 2 fe=1/days b) 4 feeT/days
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A can do 20% of a work in 4 days, B can do

P, QO % 60 33%% of the same work in 10 days.lThey
E) EO ;2>5 —(4 6 worked together for 9 days. C completed the

I6 g remaining work in 6 days. B and C together
—= 'lwﬂl complete 75% of the same work in:

C 2.5 64 Amﬁmmm%,ztﬁ?r#tgrw
5 m%,swmas’rssi%,mﬁ;rﬁ
AIXERXD W F FEAT ¥ ¥ 9 Re & Rv
X—g‘/_q:"m AT FF S & C AT FF &1 6 el &
T FaT ¢ B 3R v Wiy 36 F F

75% fhaa e & qur Hwm?
a) 15days B 10 days
c) 12 days d) 9 days
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A can do one-third of a work in 15 days, B can
do 75% of the same work in 18 days and C can
do the same work in 36 days. B and C worked
together for 8 days. In how many days will 4
alone complete the remaining work?
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P and Q together can do a job in 6 days. Q and
R can finish the same job in 60/7 days.IP
started the work and worked for 3 days.
Remaining work is finished by Q and R
continued in 6 days. Then the difference of
days in which R and P can complete the job is
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-A can do a piece of work in 45 days. B and C
together can do it in 30 days. A and B together
completed 80% of the work in 20 days. How
many days will C alone take to complete 70%
of the remaining work? -
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X can do a work in 3 days, Y does three times
the same work in 8 days, and Z does five times
the same work in 12 daysf they have to work
together for 6 hours in a day} then in how much
time can they complete the work?
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a) 4 hours 5 hours 20 minutes
¢) 4 hours 10 minutes d) 5 hours
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John does % piece of work in 3 hours, Joe does i of

the remaining work in 1 hour and George finishes
remaining work in 5 hours. How long would it have
taken the three working together to do the work?
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Two workers A and B working together
completed a job in|5 days.’lf A worked twice as

efficiently as he actually did and B worked % as

efficiently as he actually did, the work would
have been completed i To complete
the job alone, 4 would require

3 ot & QU & T B A HFeT I FA
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c) 7 - days d) 8 2 days
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A tank has n pipes attached to it, out of which
2 are outlet pipes and the rest are inlet pipes.
Each inlet pipe can fill a tank in 10 hours and
each outlet pipe can empty the full tank in 15
hours all the pipes are opened togethe

—_—

then 91%% part of the tank is filled i (@/

hours. at is the value of n?
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A takes 6 more days than B to complete a certain work.
B starts the work and A took over after 4 days and
completed the remaining work in 12 days.'A and B
together can complete 62. 5% of the original work in:
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